10

Ratl

<op/p, > (%)

o
[N

<3 @> (rad)
<)
o R
)

-0.2

.............

.............

T

..............

............

...............

...............

[y

05f-----tooo L

3 -2 -1 0 1

2

3

TP n (PCA to beamline)

o
[N

< d cot(B) >
o
[
[6)]

o
i

...............

................

...........................

............................

..........

0 1 2 3
TP n (PCA to beamline)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

............

............

............

.....

.....

.....

.............

.............

.............

QE P 1 I O P Y P P P AP P IIY
K Rt L AL Sheeeee
2 R Rt | & ; i N SRR
Eoee g B L
03— =1 0 T2 3

TP n (PCA to beamline)

............

............

............

..........

..........

..........

-1

0 1

2

3

TP n (PCA to beamline)

— 100

............

............

............

3 -2 -1

AL
: 3 :

PO 1 P Y Y Y PR PO P E
”!L ----------
0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


